Equations and inequalities

m Time allowed: 45 minutes. Name:
B Part A: 20 multiple-choice questions (40 marks)
B Part B: 14 free-response questions (60 marks)

Part A 10 Solve 3v—8=11.
20 multiple-choice questions Av=1 B v=-1

2 marks each: 40 marks Cv= 6% Dv= -2§

Circle the correct answer.
The perimeter of a rectangle is 48 cm and its
Solve p +7=38. width is 9 cm. What is its length?

A 15cm B 195cm
C 39cm D 30cm

Solvem—5=0. Solve g—l = -4,

A m=10 A heo
C m=0 =T

__1 _1

a C h= 5 D h= 5
Solve = =
3 Which one of these statements is true?

Aa=9 a=6 A3+9=12 B 2x11<20
Ca=0 a= C7-8>1

Solve 4y = 25. Solve 2(z + 8) = 10.

A y=5§1 B Air=-3

Ct=5

Solve 4d + 7 =-1.

Solve -8x = 20. A a’=—1%

_ gl
C y—6z

A x=12 B x=—§ Cd=- D d=-6

C x=-12 D x=-21 Which inequality has been graphed on this
2 number line?

Which symbol means ‘is less than’?

A= B >

C < D= x

Solve 2b -7 =35. *
B b=-1

Solve ’5‘— 10 = -6.

A k=-12
C k=-42
Solve r—4 = -1.
Ars-s
D r=20 Cr=4

Which equation means ‘3 more than Solve3c—5=c+7.
double x is equal to 17°? A c=3
A3-2x=17 B 2x-3=17 Cec=6
C 6x=17 D 2x+3=17 Solve 4u > -16.

A u<4

Cu<-+4

B r=76
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where 4 is the child’s age in years.

=28.
=17 -

h
needed by an 8-year-old child.

10 hours of sleep.

needed by a child can be calculated by the

formula
a Calculate how many hours of sleep are

b Find the age of the child who needs

b 2(r+4)=15.

¢ 4(3h-2)
26 (4 marks) The number of hours, A, of sleep

25 (2 marks) Write an equation whose solution

24 (6 marks) Solve each equation

ing the

- M o

= 6 by us

X+ 3
2

60 marks
Show working where appropriate.

14 free-response questions
42,

number is equal to 5. Use an equation to find

method of ‘guess, check and improve’.
the number.

23 (3 marks) Thirteen more than 4 times a

22 (6 marks) Solve each equation

21 (3 marks) Solve
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th » sides
tly:
x—10
-3
13
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X

180(n — 2).
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4x+3
equation.

lygon w

formula:

10N 1NCOITeC

S
How many sides has the polygon with the

angle sum of 900°?

-

S
s
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mistake and explain what the mistake

-

b Find the correct solution to Paul’s

3x=-13
a Draw a circle around the 1

aS5p+3=<18
equat;

in a po

30 (3 marks) The sum of the angles (in degrees)
31 (4 marks) Solve each inequality
32 (4 marks) Paul solved the following
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=5(m—1).

e

2z+13.

Gt

4=35.

s

2

J_
6
solution on the number line below.

b 12-5x
adz+3
b 3(m+1)

a

28 (3 marks) Solve x + 9 < 3 and graph the

27 (6 marks) Solve each equation
29 (6 marks) Solve each equation.
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33 (6 marks) Solve each equation:
-
- u—28

. a

i =_2'

L 3
L o

e

=

34 (4 marks) Twenty less than 9 times a number
is equal to 5 times the number. Use an
equation to find the number.

S o
Sha

END OF TEST.

Use the rest of the page for
extra working space.
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Topic test 12: Equations and inequalities continued
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o o nnnen B / Topic test 12: Equations and inequalities continued
Equations and inequalitieg | |

Part B 24 (6 marks) Solve each equation:
: ."}14 free-response questions a 3x-8=7. )
‘3 2 2 | 7
ed 60 marks -0 N \/
‘Show working where appropriate. -

Time allowed: 45 minutes. v V Name:
Part A: 20 multiplé-choice questions (40 marks)
Part B: 14 free-response questions (60 marks)

Part A 10 Solve 3v—8 =11. ]
_ = 2 r+o
20 multiple-choice questions Av=1 B y=-1 ) 1 (3 marks) Solve * 2 = 6 by using the
- . . _ sl _ 92
2, marks each: 40 marks 7 @v =6} D y=-22

method of ‘guess, check and improve’. b 2(r+4) = 15.
Circle the correct answer.

11 The perimeter of a rectangle is 48 cm and its / [ rFl= 75
1 Selvep+7=8. width is 9 cm. What is its length? ) r=%5
Ap=-1 B p=15 /& 15em - B 19.5cm
C'p=% /®p=1 C 39cm D 30cm

2 Solvem—5=0. 12 Solveg = -4, - . ¢ 4(3h—-2)=28.

A m=10 AB)m=5 , | | -2 =7

m= D m=-5 A h=- ’ 25 =9
C m=0 ; | V | ’ "y /

.1
C h=
: 13 ‘Which-one of these statements is true?
/@a:9 a=6 VB3+9=12 B 2x11<20
€a=0 Da= € 7-8>1 D4<3 , 2 - isy=:3. '%4_5:0
4 Solye 4y =25. © 14 Solve 20+ 8)=10 ;

A y=52 = ). B =0 ] S ation: : Y+ }

Dt=+4

25 (2 marks) Write an equation whose solution

— gl =

/@ =6l =3 15 Solve 4d--7 =-1.

5 Solve -8x = 20. A d=-1] B d=-
Ax=12 b 6y+1—49
W . by =
0 x=-12 ) 5 . ’ mmbel hue‘7 ' i 1 J 8 (4 -marks) The npmber pf hours, &, of sleep
6 Which symbol means ‘is less than’? o & / necded by a.child can be calculated by the
A =< B > ‘ T2 -1 ‘ : formulal

/@ < D = A x=<-1

7 Solve 26 —7=5. Cx=-l
B b=-1

r=17-2
17 5

where a is the child’s age:in years.
17 Solve k_ 10 = -6. - i a Calculate how many hours of sleep are
3 . needed by an 8-year-old chi d
4r A k=-12 = ; 7= hr 74 Thetd
8 Saolve <= 16. O fmeig L » (3 marks) Thirteen more than 4 times a ; ,Ah B yr did child needs [3hours of
18 Solve f—4 < -1 ' number is equal to 5..Use an equation to find b Find the age of the child who needs

A r= 5-% B r=76 - e the number. 10 hours of sleep.

N < - / 17-4
Cront SDrem C =4 | k1225 o= "7
- ) . 19 Solvedc—5=c+7. . a4 ;

9 Which equation means ‘3 more than A o= 4 = ¢

double x is equal to 17°? ot E
A 3-2x=17 B 2x-3=17 A e=6 ' .
C 6x=17 V®2x+3:.1:7 20 Solve 4u > -16.

A u<d i . a*

Cu<-4 - , O T)\e age of a Child fhat yeeds,

\

Ohe s/aeé, PR rs ol

a =17
24’10




Topic test 12: Equations and inequalities comtinued

27 (6 marks) Solve each equation:

30 (3 marks) The sum of the angles (in degrees)
in a polygon with n sides is given by the

Topic test 12: Equations and inequalities continued

33 (6 marks) Solve each equation:

Y .
g_4=5- formula: g 1= 8__7
S=180(n—2). 3 -
q How many sides has the polygon with the

. u-%
angle sum of 900°?
54 / Qop° ~ H‘.O‘Ln-z). U= Z /
5 - n-z 7
. '7 , . I
b 12-5x = 9. a o (g}ejé\ wilh on dngle. sum of

has 7 s;ziQ

17 = Q-f—‘ii / 31 (4 marks) Solve each inequality:

a Sp+3 =18

34 (4 marks) Twénty less than9:times a uumber
is equal to 5: tindes the- numbel Use an
equaﬁon to find the number.

q ~70 = Sx

(3 marks) Solve x +9 < 3 and graph the q “h S=f1

SOllltlgan%I\] tze%n um;cr line bélow. 32 (4 marks) Paul solved the following (‘/JL, =20

=< { <6 equation incorrectly: | ~ = 5

END OF TEST.
_Use the test of the page for
extra working space.
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29 (6 mﬂﬂgs) Solve each equation.. a Draw a circle around the line with the
adz+3=07+13. - o mistake and explain what the mistake

qz 2_{_-}—{9, was. “("Tﬁzﬁ%ﬁﬂ:@ﬁ
1z =0, SE—tfvenagdis
2=5 \/ @ﬁéﬂ*ﬂ%ﬁ

b 3(m+ 1) =50~ 1). ) b Find ‘Ehe correct solution to Panl’s
Sy = equation.
Bm +3% =




